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i X . 50cm 0.11 0.11 0.08 0.09
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238 BRILITH WERREIST  |EHZVEEE 78258 [ERES] &\L
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50cm 0.08 0.09 0.08 0.08
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it oy . 50 007 0.09 0.08 0.08
3TLT  |Z0 BRESTAI—EABIAS & | qm [ERES] #L
S m 0.07 0.08 0.09 007
50cm 0.09 0.08 0.11 0.1
284|ERLUTH Z Dt nivdu 78178 [EREE] &L
m 0.09 0.09 0.11 0.1
50cm 0.07 007 0.08 0.08
285|ERLUTH Z Dt nirvadd 78178 [EREE] &L
m 0.07 0.09 0.08 0.08
) 50cm 0.12 0.10 0.08 0.08
286|ERLLTT Z 0t FyXHR—bIHEYPE 78228 [EREE] &L
m 0.13 0.10 0.07 007
= 1 R 450 S FE o) A 50cm 0.08 0.08 0.07 0.08
287|BLF  |ZOH BESETXEBRMLIZIT 15208 [EES] ®L
= m 0.07 0.08 0.07 007
50cm 0.10 0.08 0.07 007 0.10 0.1 B ok
NN n . [t AD [ BEESE ] N267THE®RFELIS
288| &R LI T Dt FYXRAR—ZRR5—(F 7R26H = HeT LD
1m 0.10 0.09 007 0.07 0.10 0.10[7 U No279F Y XIS TMBEEHLEHA
50cm 0.11 0.1 0.08 0.08
289|ERLUTH Z Dt SUNSET CLUB 78228 [EREE] &L
m 0.11 0.10 0.08 0.08
50cm 0.10 0.09 0.07 0.06
290|ERLUTH Z Dt TOPS 78258 [EREE] &L
m 0.09 0.08 0.08 007
o im s 50cm 008 0.08 i A O EKBIAGELV=8 , KD A RIE
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50cm 0.12 0.09 0.10 0.09
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1m 0.07 0.08 0.08 0.08
50cm 0.07 0.08 0.07 0.07
299| BBl ZDfh DO FHOBIEBILRTE 7816H [HEZ] &L
1m 0.07 0.07 0.07 0.07
50cm 0.09 0.08 0.08 0.07
300|ERLLTT Z 0t HH— 78168 [EREE] &L
1m 0.10 0.09 0.08 0.08
) 50cm 0.11 0.14 0.07 0.07
301|ERLUTH Lol AR T SRR HE 7H18H [HEZ] &L
1m 0.11 0.12 0.07 0.07
50cm 0.10 0.11 0.09 0.09
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— N o 50cm 0.09 0.06 %ﬁiﬁiﬁ &
312|EBLUTH Z 0 RAT—=U A THRE 78298
T 1m 0.09 007 [ERES] ®L
MBHRETAH—ER ITNFLFE 50cm 0.14 0.12 015
313|EfLLTH Z 0t e 7H29H iRt S
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B . 50cm 0.09 0.09 $F18Hh
314|ER LT Z 0t REREXESE FAL 78298
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] 0 500m 010 010 iR S
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316|ERLUTH ZDih CELREXERS— 7829H iRt S
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) R 50cm 0.09 0.09 0.07 0.07 0.08 0.08
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im 0.08 0.08 0.07 0.07 0.08 0.08
) R 50cm 0.09 0.09 0.10 0.10 0.10 0.10
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im 0.09 0.09 0.09 0.09 0.10 0.10
50cm 0.08 0.08 0.10 0.10 0.10 0.10
R21|ZBE M |MEREERRESIST ARBEHSD 7825H
im 0.09 0.09 0.09 0.09 0.10 0.10
50cm 0.10 0.11 0.08 0.08
322 BET  |MERRESST  |HBRESST 76268 [EREZ] &L
im 0.10 0.11 0.08 0.08
50cm 0.09 JEn & T
R FENT  |RRERESST | »57 1248 PR AR ERS ) RRNHLNERSE
im 0.10 KL
§ . 50cm 0.08 0.08 0.08 0.09 0.08 0.08
324|7BE T |MERERREHIST E=ARREIST 78250
im 0.08 0.08 0.07 0.07 0.09 0.09
~ R . R . 50cm 0.08 0.08 0.06 0.06 0.07 0.07
E|EBNT  |REETFELEE |(HAEFELEE (BHIEsnHUE)| 78268
im 0.08 0.08 0.06 0.06 0.07 0.07
50cm 0.08 0.08 0.08 0.08 0.08 0.08
326|BE)IT |20 EExE 76268
im 0.08 0.08 0.10 0.10 0.09 0.09
50cm 0.08 0.08
RI|EENT |20k HREAET IR 78258 EAMERO=0] EEZ 10&8%E
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329|2BE T | Dt fzItOZHE 78248 i A O ERBAGEL=0 . TN HBIE
im 0.06 0.06 0.06 0.06
50cm 0.08 0.08 0.07 0.07 0.07 0.07
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im 0.08 0.08 0.08 0.08 0.07 0.07
50cm 0.08 0.08 0.07 0.07
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B2 = —F “ _ 50cm 0.07 0.07 0.08 0.08
BB |20k ffﬁﬁﬁ;” ERILYTRI— | 18038 [ERES] ®L
-~ im 0.07 0.07 0.07 0.07
50cm 0.09 0.09 0.06 0.06
335|2BE T [T Dt SAITITFO—FzFa) 7A25H [EEE] &L
im 0.08 0.08 0.07 0.08
B 50cm 0.06 0.06 0.07 0.07
336|BEIT |FDih REREEXELI—BIESES 782580 [EEE] &L
im 0.07 0.07 0.07 0.07
. - 50cm 0.07 0.07 S A O LR =8 KEDAHBIE
337\ AENT |0t TLvTRI—ILVKEHKE 78238 - pp ppe [EES] ®L
S = o "y 50cm 0.06 0.06 0.06 0.06
B6lEEIIT |20k BEASTAIER SRR R | 15200 [EES] ®L
L im 0.08 0.08 0.07 0.07
== = YRGS 50cm 0.09 0.09 0.09 0.09 0.09 0.09
3| AEENT |20 ﬁl’_‘;?:g;,fﬁfi*ﬁt”‘ 7A268
=i im 0.09 0.09 0.07 0.07 0.08 0.09
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EERREMSRE_AV /AT (REEUEHREFE17ENHER
(SM6E7H16H~ 30E|uﬂ§aeﬁ’ﬁ)
RF A ER X RKAED (REHRYL)
BERKEXKARI (RFAHYD)
RERAHEEMBITRERE
ERREFRPIEME(u Sv/h)
< EEZ
No. | HETH 7 R E R B2 wmms B AR =B (thsk - 4BBD T 1918H) e
5@ %16 5@ %16 5@ %16
RERR | AERE | AERE | HEHE | FERE | AnrE
4= s A 2 50 0.09 0.09 0.09 0.09 0.06 0.06
340\ BB |20 ’é%ﬂf&f’ﬁt/a tette FHT| ;3550 e
1m 0.08 0.08 0.10 0.10 0.06 0.06
50cm 0.09 0.09 0.08 0.08 0.08 0.08
MEET | Dk FEEL 78248
1m 0.09 0.09 0.08 0.08 0.08 0.09
50cm 0.07 0.07 0.08 0.08 0.10 0.10
342|7BENWH | T Dt FIXEH5 7H26H
1m 0.07 0.07 0.07 0.07 0.10 0.10
S N _ 50 0.08 0.08 0.07 0.07 [EhADO ] N345TLyTRO—ILABEHEE
U3 BEIE |20k BRES TV —EX TLITAT™ 1amm Py
1m 0.06 0.06 0.07 0.07 [EEZE] &L
o BEBEBET(H—ERRZ M YRE 50cm 0.07 0.08 0.07 0.07
344|7BE T | T Dt o e 78238 [EREE] &L
. BNRHIHE 1m 0.08 0.09 0.08 0.08
50cm 0.08 0.08 0.07 0.06 [EthADO ] No34SEHRETAHY—ER 7
345 BE T |2 D TLyTRI—ILABRHKE 78238 LyFRO—IVEIHREELR
1m 0.06 0.06 0.07 0.07 [EREZE] &L
i ) 50cm 0.07 0.07 0.06 0.07
46| BE T |2 D WER%ET (Y —E XFine 78248 [EREE] &L
1m 0.07 0.07 0.06 0.07
50cm 0.06 0.06 0.06 0.06
347|2BE W | Dt <O FHUAIEEE I 78238 [EEE] &L
1m 0.06 0.06 0.06 0.06
- 50cm 0.07 0.07 0.05 0.05
Mg\ EENT | 204t i e LeBAE 5| 1545 [EpES ] HL
1m 0.07 0.07 0.05 0.05
50cm 0.09 0.09 0.07 0.07
349| BB T | F Dtk UH—DUH—D 78258 [EREE] &L
1m 0.08 0.08 0.08 0.08
e N 50cm 0.07 0.07 748 Hh
3507 BEIT | ZDith H<h{FHVAIERD £ 7RA258 - 008 pp [EEZ] ®mL
e - - . . 50cm 0.07 0.08 748 Hh 5
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BERREMRSHRE=5)Y

HE(RERUE

(56E7H 16 ~308AEEM)

SR s

X =F 5h

17[E)#ER

[RF A KE B M RAE (STHRVD)
BERKEANKAR (RFHID
EEREHEENRMRERE

ZRRERAENE (U Sv/h)

< EEZ
No. | HETH 7 R E R B2 mems B AR H (thsk - 4BBD T 1918H) e
5@ %16 5@ %16 5@ %16
50cm 0.07 0.07 0.07 0.07 0.07 0.07 stz 4
TR E s [BhAD I %P 10 BERES ] No355iEiR R
353 @ iR R E S5 ﬁ%m%%fﬁb%i757(ﬁﬁL%§$5§ JA198 50cm 0.08 0.08 0.08 0.08 0.07 0.07
to5-) 1m 0.07 0.07 0.07 0.07 0.06 0.07
o ) 50cm 0.08 0.08 0.07 0.07
354/ AFTTH MERRRESSD KEBMEREREYST (KBTHBE) | 7H188 [EEE] &L
1m 0.07 0.07 0.07 0.07
A S 4 | o e 50cm 0.07 0.07 0.07 0.07 0.07 0.07 —pe s
355 E*q.l—_ﬁ Tﬂﬁ%ﬁ'ﬁlﬁ??j /EEF&E*{&LEL.Eajj(:ﬁ{t&\*L% 7818H [ 3‘;&1'@.)7!3 ][ ﬁﬁﬁ ][ E% ] N0352:1ﬂ'1’tr§\
W3EieR) 1m 0.07 0.07 0.07 0.07 0.07 0,07/ VBV KREBEHA
. 50cm 0.08 0.09 0.08 0.08
356| AT WERRRESST OLEERA— 7A18H [EEE] &L
1m 0.08 0.09 0.08 0.08
. X i ) ) 50cm 0.12 0.12 0.10 0.10 0.10 0.11
357|@FtH MERERRESSD HMBEBERERREIST EBIELE) | 7A19R8
1m 0.12 0.12 0.09 0.09 0.10 0.10
B 50cm 0.07 0.07 0.07 0.07 0.07 0.08
358|AAf T Z 0t HATFE CXELV2— 78198
1m 0.07 0.07 0.07 0.07 0.08 0.08
50cm 0.08 0.08 0.07 0.08
359|EFH ZDih DU-THAEBF 7A198 [EEE] &L
1m 0.07 0.07 0.07 0.08
50cm 0.08 0.08 0.08 0.08 0.07 0.07
360|EFH ZDih DU-THAEZELL 781980
1m 0.08 0.08 0.08 0.08 0.07 0.07
i ) 50cm 0.07 0.07 0.07 0.07
361|EFH ZDih WERETAH—ERAUNYARKE| 7TH188 [EEE] &L
1m 0.07 0.07 0.06 0.06
B 50cm 0.08 0.09 0.08 0.08
362|AAfTH Z Dt U REREXELVS— 78198 [EREE] &L
1m 0.08 0.08 0.08 0.08
50cm 0.09 0.07 BERIC KU IR S
363|8R G AT REE-RELVS— |HELRESE 78178 [EbAD L ZE ] No.368DELDEIGEHA
1m 0.09 0.06 [EREE] &L
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EERREMGRE=2) VAT (RERWUERFF17EDHR
(ff6eE7H168~ 30E|uﬂ§aeﬁ’ﬁ)
[FEF N K EIR 3T F AR (RETHRIT)
FEEREKEMERE(EFAHID
EEREHEERIHRERE
ZeR4R 2 %I fE( 1 Sv/h)
- EESE
No. | mETH 7 R E R B2 wmms B AR xH (s k- 4IBD T 1918) e
4@ F16[H 4@ F16[H 4@ Z16M
pass | pare | pase | HesR | Baes | Bage
50cm 0.10 0.10 3 _ ==
SAEE  |RER-RECA— |BEIRESHRIE L Py —— o) D eI, SROARE
50cm 0.09 0.09 0.07 0.07
365|8E A HT Z Dt JrH— 78178 [EEE] &L
im 0.08 0.09 0.07 0.07
50cm 0.07 0.07 0.08 0.08
366|8EAHT Z Dt A/ AEEER 78178 [EEE] &L
im 0.07 0.08 0.07 0.08
50cm 0.07 0.07 0.06 0.06 0.08 0.08
367|fE A AT Z 0t BECELE RESOK 78178
im 0.06 0.06 0.07 0.07 0.07 0.06
50cm 0.09 0.07 FBERICKYF IR =
368|&E A HT ZDfth 2EVDLE 78178 [ AD 1L =B8] No36385E RELESLR
im 0.09 0.06 [ EEZE] &L
o _ 50 0.08 0.08 0.07 0.07
69| HERT | Z0M ERMRREREXE LS~ A= jg,0 | 77 [EEZ] EL
E im 0.08 0.08 0.07 0.07
., 50cm 0.15 0.15 0.08 0.08
370| K 4 Z 0t DAL 7178 [ERES] 8L
im 0.14 0.14 0.08 0.08
. 50cm 0.09 0.10 0.11 0.12 0.09 0.09
371|511 ET ME®RRESIST  |RIIRESST 7A16H [ERES ] BIIRSIA /RS
im 0.08 0.08 0.12 0.13 0.09 0.09
50 0.10 0.10 0.09 0.09 0.10 0.11 WS S
slENE |zt i B 1R168 —— LIRS ] NoSTaA RSB T x VBIER
im 0.10 0.10 0.10 0.10 0.11 0.11
50cm 0.07 0.07 0.07 0.07 0.10 0.11
3735 )I1ET Z0Hh HAESEIVCIVE 7A16H [ERES ] N3 EXEE LR
im 0.08 0.08 0.07 0.06 0.11 0.11
50cm 0.09 0.08
374|FJI11ET Z Dt TLyTRI—ILBNEE 7A16H E16E EFAERN
im 0.09 0.08
~ R 50cm 0.07 0.07 0.07 0.07 0.08 0.09
375\ FEJIF WERERRESSD RIGRRIREYST 7A16H
im 0.08 0.08 0.07 0.07 0.08 0.08
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EERERENSRETE=A) U RAE(REGUHEEREEF17R)ER
(SF6E7H16B~30BAEEM)
BTN K ER M E AL GRS

BERKEANKAR (RFHID
EEREHEENRMRERE

ERREFAEME(U Sv/h)
. BEESE
No. | HETH 7 R E R B2 mems B AR =B (s k- 4IBD T 1918) e
5 #=16E 5[ #16E 5[ %16E
RERE | AEHE | AEE | HERE | HERE | AERE
. X i ) 50cm 0.07 0.07 0.07 0.07 0.07 0.07
376| EJIIFF MREREYSD BEMRRREYSD 7H16H
1m 0.07 0.07 0.07 0.07 0.07 0.07
50cm 0.08 0.08 0.07 0.07
377|ENIF Z Dk FORZEHR 7816H [HEZ] £#L
1m 0.09 0.09 0.07 0.07
50cm 0.08 0.09 0.07 0.07
378| EJIIFF Z Dt TLYTRI—ILENHKE 78168 [EREE] &L
1m 0.07 0.07 0.07 0.07
50cm 0.07 0.07 0.08 0.08
379|i%J11ET Z Dt el sty 5= 7A16H [EEE] &L
1m 0.08 0.08 0.07 0.07
. X ) 50cm 0.09 0.09 0.08 0.08
380| = Z&=MT MRERESSD BIREYST 78228 [EREE] &L
1m 0.09 0.09 0.09 0.09
. ) 50cm 0.08 0.08 0.08 0.08
381| = &HT WERFELHE FIFH->Z P E (Rt X FAR) | 7H 228 [HEZ] £#L
1m 0.09 0.09 0.08 0.08
. ) 50cm 0.08 0.08 0.10 0.10
382| = & HT WERFELHE FIFS-IFELE(FEMERARE) | 7H228 [HEZ] £#L
1m 0.09 0.09 0.11 0.11
5= =18 = 50cm 0.10 0.10 0.10 0.10
1m 0.09 0.09 0.10 0.10
i ) 50cm 0.10 0.10 0.08 0.08
384| = &MT Z 0 WERBETAH—ERUON=ZHFEHE| 7H228 [EREE] &L
1m 0.11 0.11 0.09 0.09
) 50cm 0.10 0.11 0.07 0.08
385| = Z&=MT Z Dt NDULHIHAE=ZEH 78228 [EREE] &L
1m 0.10 0.10 0.08 0.08
B 50cm 0.12 0.12 0.11 0.12
386| = & HT ZDfth =EHEMEFE CHiEE A — 782280 [HEZ] £#L
1m 0.12 0.12 0.11 0.12
) X ) 50cm 0.08 0.08 0.08 0.08 0.09 0.10
387|/NEFET MREBERESSD HEToREEFENKE 7A18H
1m 0.08 0.09 0.08 0.08 0.09 0.09
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BERRERGRE=2)JHE(REBRIULE

(56E7H 16 ~308AEEM)

SR s

X =F 5h

17[E)#ER

[RF A KE B M RAE (STHRVD)

BRER

KERMKAE (RFHYD

EEREHEENRMRERE

ZRRERAENE (U Sv/h)

No. | mETH w7 R B B2 mems BieAR xH (s - ARBOD T 1E) i
5E #E16ME 5E #E16MH 5E %16[E

) ) ) ) 50cm 0.08 0.08 0.09 0.09

388|/NEFHT WERERRESSD INEFETIRGRERE VST 7818H [EEE] &L
1m 0.08 0.08 0.09 0.10
B 50cm 0.07 0.07 0.08 0.08

389|/NEFHT ZDih INGFETFECHRAEREE 4— | 7TH18H [EEE] &L
im 0.07 0.07 0.09 0.09

X TE16mPERRIEF. FMNEF7A6E~7A31HICERELEIESREREBSHRE=SIJHE (RERUERFE16M) IIZHTIRERR TOMITOVTIE, HERICEHT S,
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